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Question: 1

Your company has developed a service that allows your customers to check the status of an order.
The schema for the service is shown here:

<x=d: schema xmlha: xsd="http://winw. w3 . org/ 2001/ ML Schema ">
<xzd: element name="0OrderStatushookup™=
<xgd: complexType>
<xad;: seguence>
<xad; element name="customerID™ type="xsd:string"/>
<xad:mlement name="orderID" type="xsd:string"/ >
</xad: sequenca>
</xad:compl exType>
</ xad: element>
<xsd: element name="0rderItatushesponse™>
<xad:complexType>
<xad: sequencesr
<xzd:element name="orderID” type="uxsd:straing”/>
fwad: element name="sztatuza” type="xad:string"/>
<xad:element name="comments" type="xsd:string"/>
<fxsd: sequence>
</ xad: complexType>
=/ xad: elemant>
</x=md:schema>

A new customer plans to use your service, but they want to test it first. They have asked for two
sample XML documents that show typical input and output message content. Which of the following
pairs of XML elements will validate with the schema shown above?
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C A <Order3tatusLookup>
<customerID>12345</customerID>
<orderID>44F12</ordercID>

</Order3tatusLookup>

<OrderftatusfResponse>
<orderID>d4FlZ</orderID>
<status>PENDING</status>
<zcommenta>Waiting for back order to be filled</commenta>
“<commenta>Will advise when in stock.</comments>
</0rderZtatusResponse>

B  <OrderZtatuaLookup>
coustomerID>12345</customecID>

<orderID>14F12</ordecID>
</0Order8tatusLookup>

<QrderStatusResponse>

<prderID>44F12</orderID>

<comments>Waiting for back order to be filled</comments>
</Order3tatushesponse>

© C. <Order8tatusLockup>
<orderID>44F12</orderIh>
<customerID>12345</customerID>
</OrderStatualookup>

<0Order3tatusfesponse>
<orderID>44F12</orderID>
<status>PENDING</status>
<comments>Waiting for back order to be filled</comments>

</OrderStatushesponse>

CD None of the above

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

Question: 2

A partner organization has given you samples of XML documents retrieved from their product
information database. The three samples they have sent you are:
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<products
“number=1Z30D</nunher>
“name>3-Compartment Travel Rit</name>
<guantityr2</guantity>

</producty

<praoducst>
<number>445A8</number>
“<guantity*l</guantity>
<name>13 ineh. Relling Suitcase</name>
</produ=t>

<products
“number=843AC0</mumber>
<guantity>l</guantity>
<pamerDeluxe Travel Pillow</name>
</ product>

Because they are an important partner, you have agreed to write a service to accept XML documents
in their format. However, they did not send you a schema, so you are tasked with defining a schema
that will correctly validate their documents. Which of the following XML schemas will successfully
validate each of the above XML document fragments?
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C oA <xsd: schema xmlna:xsd="http:ffwww.w?.nrngﬂleZHLEchemu"}
<yadi: element name="producst">
<xad:complexTypes
<x=cd: sequencer
<xs5d: element name="number” type="wsd:string"/>
<xsd: element name="name"” type="xsd:string"/>
<xzd:element name="guantity" type="xad:integer®/>
</x=d: sequence>
“<fwadicomplexType>
</xad: element>
</ xad: echema>

T B =xsd:schema xmlns:xsd="http://www. w3, org/Z001/XMLSchema ™=
“<xad: element name="producst”=
“<wsd; complexTypes
<xsd:all>
<xad: element name="gquantity"” type="xsd:integer”/>
“<xzd: element name="number™ type="xsd:string”/>
<xad:element pname="name"” type="x=d:stcing"/>
</x=d;all>
</ x=d: complexType>
</xsd:element>
<fx=2d: schema>

™ €, =xsd:schema xmlns:xsd="httg:/ www. wd. org/2001/ZMLEchema >
<xsd:ealement name="product">
“xad: complexType>
<xsd: ssgquence>
<xad:elsment nane="number” type="usd:ateing™/>
<xsd: element name="name" type="xsd:strcing™/>
<xsd: element name="gquantity"” type="xsd:integer"/>
<xsd: element name="nams" type="x=d:atring”/ >
</ xad: sequencer
<fxad:complexType>
</wadt element>
< fxad: schema>

0 Mone of the above

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

Question: 3

Your company has developed a PO service that allows customers to submit purchase order
documents. The message sent by a customer must be based on a predefined "purchaseOrder"
element and the message received by the customer is based on a "messageAcknowledgement"
element. These two elements are defined in the following two separate XML Schema definitions:
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The "purchaseOrder.xsd" schema:
<xsd:schems xmlns: xsd="http:// www. w3, ocg/Z001/IMLEchetma™
targetNamespace="http: / fwww. example. org/po™>
<xsd: sl ement name="purchaseOrder ">
<xzd:complexType>

<xad: segquence>
<wad:element name="numbar™ type="xs=d;atring”/>

<xzd: element name="date" type="xsd:date"/>
“xad:element nams="amount” type="xsd:decimal”/>
<x3d: element name="description" type="xsd:string"/>
</ xad: ssgquencer
<fxad:complexType>
</x=d:element>
</x=d:schema>

The "ackxsd" schema;

<x=d:achema smlns:xsd="hetp: /Seonow. w3, org/2001/IML3chema "
targetNamespace= "hettp: / Svnne. example. arg/ack >
<xsd:element name="messageicknowledgemente
<xad:complexType>

<xad:segquencer
“wad: element name="number” type="uwsd:string”/>
<xad: element name="dateRecelved” typs="wad:date"/ />
<xad: element name="status" type="xsd:string®/=
</xad: segquencer
</xzd:complexType>
</ x=ad: element>
</wad: mthema>
Note that these two schemas have different namespaces. That is because the "purchaseOrder.xsd"

schema is specific to purchase order-related functions, while the "ack.xsd" schema is more generic
and used for a variety of different purposes.
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A <definitions name="PoService™
targetiamespace="http: /  wiw. exanple. org wsdl/ po’
ulns="hetp: //schemas. ool soap. org wadl /™
nlns: po="http: / /www. example. org/po™
ulns: ack="http: /fwwne. example. org/ack®
nlns: xsd="http: / fvwww. w3 . org/ 2001/ XMLEchema ">
~Ltypes>

<wx=d: gchema targetNamespace="http:// www. example. org"=
<wsd:iimport namespace="http: S Swew, example. orgspa™
schemaLocation="purchasedrder. xad "/ >
<“xsd:import nemespace="http:/  vww. exemple. orgfack”
mschemaLocation="Yack.x=sd />
</ xad: schema>
</ eypeas
<“message name="submitPOMessage ">
<part name="PO" element="po:purchassOrder"/>
=/ messages
“messgage name="PoOAcknowledgement >
“<part namse="Po" element="ack:messageAcknowl edgemsnt™/ >
</message>

a =8

</definitiona>

B <definitions name="POSsrwvice™
targetNamsespace="http: / /v, example. org wadl/ po
Fnlns="http: //schemaz.xmlsoap. org/wasdl/ ™
anlne: po="http: //www. example. org/po”
smalns: ack="http: / fwww. example. crgfack™
xnlns: xad="http: / fwine. w3 . ocg /2001 IMESchema ">
“typoa>
<x=d: achema targetNamsspase="http:/ /www.example. org™>
<x=d:import namespace="http: /v, example. crgdpo™
schemaLocation="purchaseOrder.x=sd4"/>
<xsd:import namespace="http:/ wwmw, example. org/po”
schemaliccation="achk.xsd"/ />
</xad;: achema>
ﬁftypesb
=message name="submi tPOMessage ">
<part name="P3" slement="po: purchasabrder ™/ >
=/ messagea>
<~messmage name="FOAcknowledgement™>
<part name="PO" slsment=Tack:imessageicknowledgement™ />
</messages

</definitions>

L o) <definitions name="FOService"”
targetNamespase="http: / fwew, example., org/wadl/ pa™
Felns="http: //schemas,. xmlsoap. org/wsdl/ "

Holrns: po="http: /Sewm, example. org/po™
xmlng:ack="http: / /wwme, example. org/ack”
plns: xsd="http: //eow . w3 . org /2001 XML Schema "=
“Ltypes=>
=x=d;: schema targetNamespace="http://wwnr.example., crg™>
<x=sd:import namespace="http:/ / www, example. orgfpo®
schemalocation="purchasedrder.xsd™/ =
{xsd:impﬂrt namaapucaz"httplffwwm.sxumple.otgﬁack"
sehemahiooation= Tack . scad T/>
</xmd: schema>
<Stypeas
<messags name="submitPOMessages ">
<part naeme="FO" element="po:purchaseOrder"/>
=/message>
“message name="PoOAcknowledgement ">
<part namse="PO0" slement="poimesssgeAcknowledgement ™S>
=/ mesgage=

</definitionsz>

- D Moz of the sbove
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A. Option A
B. Option B
C. Option C
D. Option D

Answer: A

Question: 4

Your developer is asked to build a Timesheet service that is able to receive timesheet submissions for
an internal payroll system. Service consumers need to be able to send this service request message
based on a root "employeeHours" element within the SOAP message body. The "employeeHourse"
element will contain "ernplID" and "hours" child elements. Furthermore, the service needs to return
a message based on a "response" element that contains "empID" and "status" child elements. Your
developer comes to you with the following WSDL definition:
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“<definitions name="Timesleat"
targetNamespace="http: / fwwe . example, ocrgfwsdl/ timeabisat™
smlns: tns="hetp: S fwww. saxample. org/wadl/ timesheaat™
ymlins: timeshest="http: //www. example.ocg/timesheet"
smlas="http: //schemas. sml soap. org wedl /"
xmlns:xsd="http: S vww. wi . ocg /2001 /XML Schema ™
xamlns: soap="http: //fachemas. smlsoap. org/wasdl aoap/ ">
“Ltypes>

<xad: schema
selns: xsd="http: / Avnew, w3, orgA 2000 EMLSchema
targetNamezpace="http: / /v, exeample. org/ tamesheet >
“xsd:r:element name="employeseHourg™>
“<xad:complexTypas>
<xsed: sequence>
<xmd: el ement name="TempTD™
type="xsd: integer™/>
=xsd: el ement name=Thowvrs™
type="Txasd:decimal "S>
</xad: sequence>
<=/ xad: complexType>
=/ xsd:element>
=xad: element name="respon=ss">
<wad:complexType>
<xsd: sequence™
“zxe=d: element name="empID"
type="xad: integer™/ >
Zxsd: element names="statu="
type="xad: string "/ />
</ xsd: sequence>
</xad:complexType>
= xad: el ement>
<) xad: schena>
{_.l" typsa}
“measage name="TimesheetMessage ">
<part nams="Timeshsst™
element="timeshest: employseHours"/>
</message>
<fmessage name="TimesheetResponse' >
<part name="Responze”
element="timesheet: response />
< /message>
“portTvyee nams="TimeshestIntertace™>
<opperation name="SubmitTimesheest">
=input mesgage="tnz: TimeshesetMegzage "/ >
<output message="tns:TimeshestReszponse S >
</ opercation>
</ portTypea>
<hinding name="TimesheestBinding™
type="Tens: TimeshestIinterface >
<spap:hinding style="rpo®
transport="http://schemas.xmlsoap.orgS soap/ http™/>
<pperation namse="SubmitTimeshest’>
<goap:operation
soaplAstion="http: / fvew. example. org/ SubmitTimeshest "/ >
<inputs
<zgaep:body uvas="literal"/>
{jinput}
=<putput>
<=oap: body uses="litmral />
</ output>
</operation>
=/ binding>

</definitions>
The only revision you suggest is that the value of the "style" attribute of the "soap: binding" element
be changed to "document" instead of "rpc". Why?
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A. With a value of "rpc", the root element within the SOAP message body will have the name of the
operation, and therefore cannot be named "employeeHours" as indicated by the requirements.

B. With a value of "rpc", the root element within the SOAP message body is unable to be part of an
operation that contains both "input" and "output" elements.

C. The value of "rpc" is not a valid value for the "style" attribute.

D. None of the above.

Answer: A
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